BUY-HOLD-SELL-HEDGE  WORKSHEET (Revised 01/05/04)

Company: ________________________  Date: _____________________

1. Trend of the Recent Quarterly Sales and EPS Growth;

a. Sales:                                            Down _____      Up _____ (2 pt.)

b. EPS:                                             Down _____      Up _____ (3 pt.)

      2. Pre-Tax profit on Sales Trend:          Down _____      Up _____ (2 pt.)

      3. Has EPS growth for past year

           met your expectations:                           No _____    Yes _____ (1 pt.)
      4. Is Relative Value between 90 & 110:     No _____    Yes _____ (1 pt.)

      5. Upside-Downside Ratio more than 3.0: No _____     Yes _____ (3 pt.)

      6. What’s the P/E Ratio as a percent 

             of the Historical Sales Growth:

              ___P/E Ratio___    =   __________  =  __________  X 100  =  _______%
              Historical Sales %  =
                                         150% or above _____  Less than 150% _____ (1pt.)

      7. Future Total Return: Less than 15% _____ 15 % or higher _____ (2pt.)
                                                                         TOTAL SCORE: ______ of 15
HEDGING
1. Stock holds a P/E Ratio of 40% or greater above the average of our portfolio P/E Ratio or the S&P Index average.
Avg. of Portfolio’s P/E = _______  X 0.4  +  _________ = ______________

                                                                        (Port. Avg.)   40% above Avg.)

Company  P  =  ________  =    ________

                 E  =                                            
                                                                        PASS: _____ (1) FAIL: _____ (0)
2. Stock’s current dollar value is 100% or more above its proportional representation, where n=the number of companies in our portfolio and

proportionality is calculated by 1 divided by n.

1 =  1  =  _______  X  ______________  X  2  =  __________________

n    =                                (Portfolio value)               ( 100% above value)

            Stock’s value = ____________                      PASS: _____ (1) FAIL: _____ (0)
3. The stock has a Relative Value (RV) of 200% or more.

Present (RV) =  _____________                    PASS:_____  (1) FAIL: _____ (0)
                                                                       TOTAL SCORE: ______ of 3
